
Tabelle einiger Grundintegrale

∫
xn dx =

xn+1

n + 1
+ c (n 6= −1, n ∈ Z, für n < −1 ist x 6= 0)

∫
xα dx =

xα+1

α + 1
+ c (α 6= −1, α ∈ R, x > 0)

∫
dx

x
=





ln x + c für x > 0

ln(−x) + c für x < 0





= ln |x|+ c (x 6= 0)

∫
ax dx =

ax

ln a
+ c (a > 0, a 6= 1)

∫
cos x dx = sin x + c

∫
sin x dx = − cos x + c

∫
dx

cos2 x
= tan x + c (x 6= π

2 + kπ, k ∈ Z)

∫
dx

sin2 x
= − cot x + c (x 6= kπ, k ∈ Z

∫
cosh x dx = sinh x + c

∫
sinh x dx = cosh x + c

∫
dx

cosh2 x
= tanh x + c

∫
dx

sinh2 x
= − coth x + c (x 6= 0)

∫
dx√

1− x2
= arcsin x + c (|x| < 1)

∫
dx

1 + x2 = arctan x + c

∫
dx√

1 + x2
= ln(x +

√
1 + x2) + c

∫
dx√

x2 − 1
= ln |x +

√
x2 − 1|+ c (|x| > 1)

∫
dx

1− x2 =
1

2
ln

∣∣∣∣
x + 1

x− 1

∣∣∣∣ + c (|x| 6= 1)


